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Q.1 A) The bus bound for Pune halted at Karad, where a lot of passengers got in; but as (05)
i)  they did not get a place to sit, some of the passengers got down and the bus resumed

its journey.

i)  Around 30,000 rescue personnel have been kept on standby mode and all (05)
educational institutions in Puducherry will remain closed on account of the cyclonic
storm.

Q.1 B)i) Itisobvious that the project is a failure. (10)

i) Babita said to Geeta that she wanted to purchase a car.
iii)  She is so weak that she cannot walk on her own.
iv)  The old man said that things had always been the same in that village.
V) It has been raining since morning, hasn’t it?
vi)  They don’t like us, do they?
vii)  Beautiful cakes are made by her.
viii)  Corruption should be fought.
iX)  Our departure had been delayed due to bad weather.
X) He has been playing cricket for his country since 1991.

Q.2 Comprehension: (20)
1.  His marriage at an early age. 02
Phrase: “inclined to pity myself”
2. Preliminary rite, not inviolable, death of boy does not result in widowhood for the 02

girl, purely between parents with no involvement of children
3. YES. “I have a faint recollection, however, that the third betrothal took place in my 02
seventh year.”

4.  elders’ convenience and economy 02
5. Any points/evidence given by the student may be considered provided it is basedon 02
the passage
6. Avoided my fate 01
7. a) the writer’s marriage 01
8. i) torecollect i) to argue 02
9. i) morality i) purity 02
10. i) betrothal i) inviolable iii) preposterously iv) preliminary 04
Q.3 Letters: (2 x 10) (20)
content (5m), vocabulary, grammar, punctuation (3m), layout (2m)
Q4 A, Data interpretation: (2 x 10) (10)
B) content (7m), vocabulary, grammar, punctuation (3m)
Q.5 Essay: (20)

content (12m), vocabulary, grammar, punctuation (5m),
logical/sequential arrangement of ideas, division of paragraphs, etc. (3m)
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